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x =
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n
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x =
x1 + x2 + ... + xn

n

=
4 + 5 + 3 + 2 + 1 + 4 + 4 + 5

8

=
28
8

=
7
2

= 3.5.
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xw =
∑n

i=1 wixi∑n
i=1 wi

,

���� �� ��	�������	
 � x1, . . . , xn � �	�������	�����

�� �	��	!�����	wi ��� �	����	�� �� �����	� L"M�

���
�
� �� 2��� �
��� � � ��� ���
�� �
���� �������
	�

�
���� 	� � ��������� � �	
 ���� * 7�1�<�0�"�7�7

	1�> 
���� �� ��!	���� � � �������
	
 ���
 ���	
 �

�
����	�� ��� � � �	� � �� ���
	
 ����	�� 
 � *

�� ������������ � �� ��	� � � ����� �� �w1 = 2� 7�1	<

�� � �	
 ���� ����	�� �	� ��� ��� �w2 = 3� 0�"	7

 � � ��	������w3 = 1� 7 	1�
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�� � ���	�� ����*

xw =
∑n

i=1 wixi∑n
i=1 wi

=
w1x1 + w1x2 + w1x3 + w2x4 + w2x5 + w2x6 + w3x7 + w3x8

w1 + w1 + w1 + w2 + w2 + w2 + w3 + w3

=
2 · 4 + 2 · 5 + 2 · 3 + 3 · 2 + 3 · 1 + 3 · 4 + 1 · 4 + 1 · 5

2 + 2 + 2 + 3 + 3 + 3 + 1 + 1

=
8 + 10 + 6 + 6 + 3 + 12 + 4 + 5

3 · 2 + 3 · 3 + 2 · 1 =
54
17

≈ 3.176.
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�� �!	�
�� � �	�
 ��	�
�� � ���	��*

xw =
∑n

i=1 wixi∑n
i=1 wi

=
w1 · x1 + w2 · x2 + . . . + wn · xn

w1 + w2 + . . . + wn

=
w · x1 + w · x2 + . . . + w · xn

w + w + . . . + w

=
� w · (x1 + x2 + . . . + xn)

n· � w
=

∑n
i=1 xi

n
= x.
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	��� �	�		� ���� ���� �	��	� G������
	�� pi =
wi∑n
i=1 wi

*

xw =
∑n

i=1 wixi∑n
i=1 wi

=
w1 · x1∑n

i=1 wi
+

w2 · x2∑n
i=1 wi

+ . . . +
wn · xn∑n

i=1 wi

1 �� ��* ��� � � 	��� !�,������
 ) 
� ���� � ���  !�� 
� � � � �	�� 
��
�	� ���� * � �� ���� ����	�	� �� � 	�
� �
� !� � � 	����� �* ��� � � � ��� �� � �� ���� �8��
� �
(	�� � ������� ��
 ����
��� ��� ������!� 	�
�
 �� � ��	�� ������!� �� � � � � ������ �� ��= 0.5359 � * � � ����� � ��� �� ��8 ��@��	� �� � � �

� ���� ���� �

�+-



�
 
�	 ����
 	 
 ��	 
 ���


=
w1∑n
i=1 wi

·x1+
w2∑n
i=1 wi

·x2+ . . . +
wn∑n
i=1 wi

·xn

= p1 · x1 + p2 · x2 + . . . + pn · xn

=
∑n

i=1
pi · xi.

; � �	
 ���� "� �	�
 ��	�
�� � ���	�� 
 ����
 � � �	�� �� �	
�� �������
	�� �
	�*

�!���� 1 2 3 4 5

8	�� ���!���

�!����
1 1 1 3 2

	��� 
����

8	�� ���!���

pi

1
1 + 1 + 1 + 3 + 2

=
1
8

1
8

1
8

3
8

2
8

=
1
4

x =
∑n

i=1
pi · xi

= p1 · x1 + p2 · x2 + p3 · x3 + p4 · x4 + p5 · x5

=
1
8
· 1 +

1
8
· 2 +

1
8
· 3 +

3
8
· 4 +

2
8
· 5

=
1
8

+
2
8

+
3
8

+
12
8

+
10
8

=
1 + 2 + 3 + 12 + 10

8
=

28
8

=
7
2

= 3.5.
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x2 = 173 

 �' ����	���	��� �	���	� ��� ���� �	��
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 � � �	��������	���� ����	����� �

�� �� � ��
 � ��+�	
	�	����	���� � �	�
 ��	�
�� � ���	��*

xw =
∑n

i=1 wixi∑n
i=1 wi

=
10 · 178 + 14 · 173

10 + 14

=
1780 + 2422

24
=

4202
24

≈ 175 

 .
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 �!	����
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	�� �� ��	G�	�� � ���� � ����� �� �� �	��

�� −18 ◦A�)��	�� ���!� ���� �	�����
	�� �−30 ◦A �
�� !	� ���
 �!	�!	� �� �� �	�
���� ��
 � ��� ���� 
 � ��

−24 ◦A N
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 	���� � ��� � �� �� �� 
 ���� �� � 	� � �	��

�� �
	�*

xw =
∑n

i=1 wixi∑n
i=1 wi

=
3 · (−18) + w2 · (−30)

3 + w2
= −24 ◦A .
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m1 = 15 kg

x12 = 3 m x23 = 5 m

m2 = 24 kg m3 = 40 kg

���������� > �� � +�	�� ��	� �	
 ��� ����� � �	�� ����

� 
 	� � � ����	���� � �	�
 ��	�
�� � ���	�� ���� �� ��� ��	

� �	�
 ��	�
�� � ���	�� ����� ���	�
	�� ������	�� �� � ��

����� �� � ��	
 � ���
	� �!�	� �� ��	�
	�� ����	��2 �� ��	�
	�	�

� ������ �� � ' ��� �� � ���	�� �� �����	�� ���� ��� �� ��

����� �	��� 
 ��� �� � ��
 � ��� �
� � � � ������ �� �	���� 
 � �

�� m1� $ � �� �� � �	
 ����
 ��+�	
	�� ����	���� � �	��


 ��	�
�� � ���	��*

xw =
∑n

i=1 mixi∑n
i=1 mi

=
m1x1 + m2x2 + m3x3

m1 + m2 + m3

=
m1 · 0 + m2x12 + m3(x12 + x23)

m1 + m2 + m3

=
15 · 0 + 24 · 3 + 40(3 + 5)

15 + 24 + 40

=
0 + 72 + 320

79
=

392
79

≈ 4.96 
 .
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-,http://www.back2college.com/gpa.htm
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weighted-average-problems.html
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